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Electron Temp along channel
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Average electron velocity vs. channel length
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.Problem 5 |

a) Strongly dispersive means the electrons are mobile and can move freely with an effective mass given by the band curvature.
A flat band corresponds to essentially infinite effective mass, which means that the electrons are not mobile, they are localized i
The fact that the band is dispersive along Gamma-J but flat along J-K' means that the electrons are free to move along the

- chains on the surface, but they do not move in a direction perpendicular to the chains.

Each chain is a 1-D conductor and there is essentially no conductance for electrons moving across from chain to chain.
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